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QUESTION 1

Which database manager configuration parameter is used to set an instance-wide soft limit on the total amount of
memory that can be consumed by private sorts, within that instance, at any given time?

A. SORTHEAP

B. SHEAPTHRES_SHR
C. SHEAPTHRES

D. SORTHEAP_SHR

Correct Answer: C

QUESTION 2

Given the following table spaces, their associated page size, and number of pages:

TSP1 - 16K fage size, 10000 pages
TaP2 - 8K fage size, 10000 pages
T5P3 - 4K fage size, 20000 pages

USERSPACE1 - 4K page size, 5000 pages

Which sets of buffer pools will ensure that all of the data in the table spaces will be fit into memory for optimal data
access?

A. IBMDEFAULTBP - 16K page size, 85000 pages

B. IBMDEFAULTBP - 4K page size, 25000 pagesBP1 -16K page size, 20000 pages

C. BP1 - page size 8K, 45000 pages

D. BP1 - 4K page size, 30000 pagesBP2 - 8K page size, 20000 pagesBP3 - 16K page size, 15000 pages

Correct Answer: D

QUESTION 3

Which action(s) will cause a compression dictionary to be removed from a table?

A. Set the table COMPRESS attribute to NO.

B. Set the table COMPRESS attribute to NO;run REORG against the table.

C. Set the table COMPRESS attribute to NO;run INSPECTESETDICTIONARY against the table.

D. Set the table COMPRESS attribute to NO;run RUNSTATS against the table.
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Correct Answer: B

QUESTION 4

A Windows user with a local database is not able to connect to a zOS database. The System Database Directory and
the Node Directory have the correct entries. Other users can connect to the database from their workstations without
problems. What should be done resolve the problem?

A. Uncatalog and re-catalog the directory entries for the zOS database and try again.

B. Catalog the zOS database in the Local Database Directory.

C. Catalog the zOS database in the Database Connection Services Directory.

D. Catalog the zOS database in the Distributed Data Facility Directory.

Correct Answer: C

QUESTION 5

Which command would be used to obtain the name of the first active log file for a database with log retain enabled?
A. GET CURRENT ACTIVE LOGFILE

B. LIST LOGFILES

C. GET DATABASE CONFIGURATION

D. LIST INDOUBT TRANSACTIONS

Correct Answer: C
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